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A) Predict the output of the following program..

public class Q1 a {
public static wvoid main(S5tring[] args) 1
int 1i;
int a[] = {5, 2, 3, 1, 1, @, 2, 1, @, 1};
for (1 =8; (1 < 18); i++)

1
if (a[i] == @)
break;
if (1 % 2 == 1)
continue;
System.out.print(a[i]);
}
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B) Predict the output of the following program..

public class Q1 b {
public static void main(5tring[] args)
{
int[] data = {1, 3, 5, 8, 11, 15};
int sum = @;
for({int i=1; i<data.length; ++i){
sum = sum + data[i] - data[i-1];
System.out.println("sum = " + sum);
)
)
1




e Question
C) Predict the output of the following program..

public class Q1 c {
public static int sumIf(int[] a, boolean[] b) {
int sum = @;

for (int 1 = @; 1 < a.length; ++1)
if(b[1])
sum = sum + af[i];
return sum;

b
public static woid main(String[] args)
1
int[] data = {1, 2, 3, 4, 5, 6, 7};
boolean[] filter = {true, false, true, true, false, true, truej};
System.out.println({"data:" + swumIf(data, filter));
for(int i = @; 1 < filter.length; ++1i)
filter[i] = !filter[i];
System.out.println({"data:" + swumIf(data, filter));
b




Write a method called initializeArray that has
one parameter which is an array of int values.
When it is called it will set all the elements of
the array to zero.



= Question3

Write a method called row sum that has two
parameters called row and n:

row Is an array of floating-point numbers;

n 1s an integer which will be greater than or
equal to O.

The method will return the sum of the first n
elements of the array row.
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Question 4
Write a main method to display a histogram for the marks of students in a class
of 20 students. The marks will be stored in an array called marks and each

element of this array will be an integer between 0 and 9. The histogram will
consist of a series of stars for each possible value of a mark. The number of
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stars for each mark depends on how many students received this mark.
For example, if the array marks contains :
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Your program must display the following histogram:
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